Explanations of ACPI blue and red screen error codes for Win9x

Contact jasoncl for questions about this document.

This document may be distributed to OEM’s.

RED screens indicate that the problem is likely due to a hardware or bios problem.

BLUE screens indicate that the problem is likely due to software or is a very strange problem.

Initialization Errors

Error codes 1xxx are initialization errors.

1001 The SCI enable bit (bit 0 of PM1 Control) was not set by the bios/hardware within several seconds after the software wrote the ACPI enable command to the SMI command port.

1002 The checksum field of the RSD Pointer structure is not correct.  Verify that the length of your RSD Pointer structure is 20 bytes and that the checksum is a byte at offset 8.  This error will always be followed by error 1003.

1003 The ACPI driver could not find a valid RSD Pointer structure.  Either you do not have a valid RSD Pointer structure or the signature of the RSDT to which this structure points is invalid.  

1004 The DSDT signature is invalid.  This can be caused by having non-compliant FADT (DSDT pointer should be at offset 40).  This error will always be followed by error 1008.

1005 The Firmware ACPI Control Structure’s length is incorrect.  The dword at offset 4 in the FACS should be 64 (decimal). This error will always be followed by error 1008.

1006 The signature field of the FACS is incorrect.  This can be caused by having a non-compliant FADT.  The FACS pointer should reside at offset 36 in the FADT. This error will always be followed by error 1008.

1007 The ACPI driver found an RSDT entry for a SSDT or PSDT before finding an FADT.  The Microsoft ACPI driver requires that the FADT be placed before the SSDT or PSDT in the RSDT.

1008 The ACPI driver did not find one or more required tables.  The required tables are FADT, DSDT, and FACS.

1009 The ACPI driver could not clear one or more PM1 status bits.  This indicates that a PM1 status bit is stuck in the high position.

100A This indicates that the PM1 Enable register’s TMR_EN, PWRBTN_EN, and/or SLPBTN_EN bits cannot be set, or that there is a bit in the PM1 Enable register which cannot be cleared, i.e. a bit that is stuck in the set position.  If you hit this error make sure that the flags in the FADT indicate the existance of a fixed register Sleep or Power button correctly.  If bit 4 in the FADT flags field is zero it indicates that bit 8 in PM1_EN should be functional (settable/clearable).  Likewise if bit 5 in the FADT flags field is zero it indicates that bit 9 (sleep button) in PM1_EN should be functional (settable/clearable).

100B This indicates that there is an I/O address for a General Purpose Event 0 block listed in the FADT but the length field in the FADT is 0.  This can also be cause by a non-compliant FADT.  The GPE0 I/O address should reside at offset 80 in the FADT and its length should reside in the byte at offset 92.

100C This indicates that there is an I/O address for a General Purpose Event 1 block listed in the FADT but the length field in the FADT is 0.  This can also be cause by a non-compliant FADT.  The GPE1 I/O address should reside at offset 84 in the FADT and its length should reside in the byte at offset 93.

100D This indicates that the ACPI driver has detected a control method in the \_GPE branch of the name space that is associated with a general purpose event from the GP0 register, but the GP0 register address or length is invalid.  If there really shouldn’t be a GP0 register, ensure that the GPE1_BASE value in the FADT is correct.

100E This error is identical to 100D, but applies to the GP1 register.  The ACPI driver has found a control method associated with a GP1 event but the address or lenth for GP1 is invalid.  If there really shouldn’t be a GP1 register, ensure that the GPE1_BASE value in FADT is correct.

100F This error indicates that the ACPI driver has found a control method in the \_GPE branch of the name space that is associated with a GPE bit index that is too large given the length of the GP register, i.e. a control method for bit 20 of GP0, but GP0 is only 4 bytes long, which means only two bytes of status.  This error is most commonly caused by expressing the GP control method name in decimal instead of hex.  A level sensitive control method for bit 12 (zero based decimal) of GP0 should be named _L0C not _L12.

Interpreter Errors

Error codes 2xxx are interpreter errors.

2001 This indicates that the interpreter encountered an error while processing the DSDT.  MikeTs should take a look at your ASL and determine whether the problem is in the interpreter or the ASL code.

Event Handler Errors

Error codes 3xxx are event handler errors.

3001 This indicates that the PM1 Status register has at least one bit which cannot be cleared by the event handler.  It is either read only (and set) or is stuck in the set position.

